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QUESTION 1

An attempt to delete NFS datastore from an ESXI host returns the error:
Sysinfo error on operation returned the following status: Busy

Which two statements could explain this failure? (Choose two.)

A. Storage I\O Control is enabled on NFS datastore.

B. NFS datastore is a part of Storage DRS Cluster.

C. NFS datastore has running or registered virtual machines.

D. NFS.VolumeRemountFrequency value is set to 30.

Correct Answer: AC

The busy status indicated that either storage I/O control is enabled on NFS datastore or the NFS datastore is running on
registered virtual machines. In both cases, sysinfo error on operation will be returned with busy status.

QUESTION 2

A vSphere content library administrator is attempting to unpublish the content library, but the option is grayed out as
shown in the Exhibit.

# Sampll Edit Settings B
Publishing opticn [‘?,J Publish this content library externally
Subscription URL https://oldveenter.olddomain.com.343/cls/vesp/lib/20528194-18¢0... CnpyT‘
Authentication |:| Enable user authentication for access to this content library
| oK | | Cancel ‘

Which statement identifies the reason for not being able to unpublish?
A. Underlying storage for this content library is not accessible.

B. A synchronization operation is in progress with this content library.
C. This content library is optimized for syncing over HTTP.

D. There are active subscriptions on this content library.

Correct Answer: C

QUESTION 3
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ds-lab-vsan14.dsl.vmware.com- Edit Multipathing Policies for naa.600000e00d11000000111cdZ00110000

Path selection policy

Most Recently Used (VMware)

Round Robun (VMware)
Fixed (VMware)
vmhba30:C3: TO:I ) 4 Active ign. 2000-09 . com tnjitsy.storage-sysl 0

vmhba39:C2: TO:LO e Active (I/O)  ign.2000-09.com.tnjitsy.storage-sysl 0

OK ] Cancel |

Examine the LUN properties that are shown in the exhibit. Which action should be taken to utilize all active paths?

A. Change PSP to Most Recently Used

B. No action required. All paths are already utilized.

C. Change PSP to Fixed.

D. Change PSP to Round Robin.

Correct Answer: D

The host uses an automatic path selection algorithm rotating through all active paths when connecting to active-passive
arrays, or through all available paths when connecting to active-active arrays. RR is the default for a number of arrays

and can be used with both active-active and active-passive arrays to implement load balancing across paths for different
LUNSs.

QUESTION 4

A vSphere Administrator must ensure that vCenter Server service is running in a domain user account
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rather than Local System Account.

To accomplish this, the user account should have which two permissions? (Choose two.)

A. Log on as a service.

B. Act as part of the operating system.

C. Log on as a batch job.

D. Log on locally.

Correct Answer: AB

On each system that is running vCenter Server, verify that the domain user account has these permissions: Member of

the Administrators group Act as part of the operating system Log on as a service
https://kb.vmware.com/s/article/2052334

QUESTION 5

What three options can improve network performance for a virtual machine? (Choose three.)

A. MLD

B. TSO

C. NetFlow

D. LRO

E. SR-IOV

Correct Answer: BDE
https://docs.vmware.com/en/\VVMware-vSphere/6.5/com.vmware.vsphere.networking.doc/GUID78A92BE1-8901-425E-

AAA9-C3B6FD2B402B.html https://kb.vmware.com/s/article/2055140
https://en.wikipedia.org/wiki/Multicast_Listener_Discovery

QUESTION 6

When checking the distribution of virtual machines within a Fully Automated DRS cluster, an administrator notices an
uneven spread across the hosts. Which advanced option within DRS would attempt to evenly balance VMs across the
hosts?

A. Disable DPM.

B. Set DRS Migration Threshold to Aggressive.

C. Enable VM Distribution.

D. Migrate virtual machines to a Distributed Switch.

Correct Answer: C
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QUESTION 7

Which is the purpose of VM Component Protection (VMCP)?

A. Reconnect virtual NICs that become disconnected

B. Respond when a datastore encounters a PDL or APD failure.
C. Restart applications when they are no longer running.

D. Respond when viruses are detected inside a virtual machine.

Correct Answer: B

QUESTION 8

Which is true when assigning global permissions in a single vSphere Single Sign-On domain in a multi-site
configuration?

A. Users assigned global permissions will be able to access objects and solutions across all Single Sign-On domains in
an organization.

B. Users assigned global permissions will be able to access objects and solutions only in the same Single Sign-On site.

C. Users assigned global permissions will have administrator access across all objects and solutions in a Single Sign-
On domain.

D. Users assigned global permissions will be able to access objects and solutions within that Single Sign-On domain.
Correct Answer: D

Global permissions are applied to a global root object that spans solutions, for example, both vCenter Server and
vCenter Orchestrator. Use global permissions to give a user or group privileges for all objects in all object hierarchies.
Each solution has a root object in its own object hierarchy. The global root object acts as a parent object to each

solution object. You can assign global permissions to users or groups, and decide on the role for each user or group.
The role determines the set of privileges. You can assign a predefined role or create custom roles.

QUESTION 9

Which port is used for vSphere HA agent-to-agent communication?
A. 902

B. 443

C.8182D. 22

Correct Answer: C
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QUESTION 10

The storage vendor recommends adjusting the Fibre Channel HBA queue depth to resolve a performance problem.
Which esxcli namespace can a vSphere Administratoruse to adjust the queue depth?

A. esxcli storage core device

B. esxclisystem module parameters
C. esxcli storage core adapter

D. esxcli system module set

Correct Answer: A

QUESTION 11

An administrator is trying to add a new virtual disk of 3TB to a virtual machine on a recently upgraded ESXi
6.X

host, but receives this error:

The disk capacity entered was not a properly formed number or was out of range. It has been replaced
with the nearest acceptable value.

How can the new virtual disk be added to the virtual machine?

A

Upgrade the VMFS datastore.

B.

Change the VMFS datastore block size to 8MB.

C.

Move the virtual machine to a datastore with free space.

D.

Use vmkfstools to upgrade to VMFS6.

Correct Answer: B

QUESTION 12

An administrator finds that the Microsoft Exchange virtual machines are exhibiting network latency. What two in-guest
changes can help decrease latency? (Choose two.)

A. PVDRMA
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B. TSO

C. SR-IOV

D.LRO

Correct Answer: BD

Using TSO and LRO on physical and virtual machine NICs improves the performance of ESX/ESXi hosts by reducing
the CPU overhead for TCP/IP network operations. The host uses more CPU cycles to run applications. If TSO is
enabled on the transmission path, the NIC divides larger data chunks into TCP segments. If TSO is disabled, the CPU
performs segmentation for TCP/IP. TSO is referred to as LSO (Large Segment Offload or Large Send Offload) in the
latest VMXNETS3 driver attributes. LRO reassembles incoming network packets into larger buffers and transfers the

resulting larger but fewer packets to the network stack of the host or virtual machine. The CPU has to process fewer
packets than when LRO is disabled, which reduces its utilization for networking.

QUESTION 13

Which method is supported for backing up the virtual machine that contains vCenter Server?
A. incremental

B. individual disks

C. differential

D. full image

Correct Answer: D

QUESTION 14

After deploying the vCenter Server Appliance, an administrator can log into the vSphere Web Client as
"administrator@vSphere.local”, but not with Active Directory domain credentials.

Which action will troubleshoot this?

A. Create a domain group named "esxadmins" and add the domain account to it.

B. Add the Active Directory domain as a Single Sign-On identity source.

C. Change the Active Directory account password to match administrator@vSphere.local" password.
D. Create a child domain named "vSphere.local".

Correct Answer: B

QUESTION 15

An administrator wants to upgrade ESXi 5.5 hosts to ESXi 6.5 using Update Manager. When performing a
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scan for baseline compliance, the host\\'s status is marked Compliant.
Which has happened?

A. Host must be version 6.0 in order to upgrade to 6.5.

B. Host has some third-party software installed.

C. Host has no upgrade baseline attached.

D. Host hardware is not supported for upgrade.

Correct Answer: C

http://vmiss.net/2016/12/20/upgrading-esxi-using-vsphere-update-manager-6-5-on-the-vcenterserverappliance/
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